
Subtract Decimal Numbers

1 30.36 - 10.9 =

2 7.78 - 7.42 =

3 87.82 - 39.32 =

4 83.67 - 75.16 =

5 4.76 - 4.22 =

6 57.15 - 53.06 =

7 9.86 - 7 =

8 53.35 - 3.11 =

9 20.84 - 8.57 =

10 97.02 - 6.51 =

www.MathsWizz.co.uk                                     Dotty Decimals



Subtract Decimal Numbers

1 30.36 - 10.9 = 19.46

2 7.78 - 7.42 = 0.36

3 87.82 - 39.32 = 48.50

4 83.67 - 75.16 = 8.51

5 4.76 - 4.22 = 0.54

6 57.15 - 53.06 = 4.09

7 9.86 - 7 = 2.86

8 53.35 - 3.11 = 50.24

9 20.84 - 8.57 = 12.27

10 97.02 - 6.51 = 90.51
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